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5.4 Surface Area of a Cylinder

VEFLBALESY 7 cylinder

Congryent means the
exact same slze.

cplirder

Working Example 1: Determine the Surface Area of a Right Cylinder

1) Estimale the sucface area of the can.

Sotution

Surface area of can = area ol 2 circles + area of I vectangic

To estimate, use approximate values:

d=8. sor=d=~2

= greumfesence

ienglh of rectangle = circum{erence
I=nxd

=3

LConxp

= gircumferance x w

. hd .
Arca of circle =7 x 7 Arca ol reclangle =/ x w

)

1]
[PR]
x

X =(mxd)xw

= _ =3x8%10
_ =_ 0000 m

There are 2 circles: 2 # 48 =

Estimated surface area == aren of 2 circles + area of | rectangle

The estimated surface area is em’,
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by What is the actal surface area of the can?
Round your answer to the nearest hundredth of a square centimetre (2 decinmal places).

Sotution

Methad 1: Use a Net

Step 1 Draw the net and label the measurements, op s botem

Step 2; Find the radius. ‘
diameter = 7.6 cm

76~2

I

radjus

Step 3: Find the area of | ciicle. 1 an
A=pagd

=3.14 x 3,87 B4 R EE a8

Step 4: Find the arca of 2 circles.
2x453416=

Step 3. Find the area of the reclangle using the circumference.

————

gle = circumfarence

=1y :
8 length of rectan

A=(nrd)y<w
A=314x76%11

4=

Step 6: Total sucface area = aren of 2 ciecles + area of | rectangle

+

Round your answer to
lhe nearest hundredth
{2 decimal places).

The total surtace arca is approximately ooy,
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Method 2: Use a Formula
The formula for the surface area of a cylinder 15
S4.= 2 » {mxry o+ {wxdvh)
¥ 1 “
2 circles circle reclangte arca
area « lengthi is the circumference of a circle (2 * d)

- width is the height of the cylinder (/1)

SA=2x@xA+@sdxh)
SA=2<{3.14x38) + (30147 7.6 % 1]}

§4=2%(314%38x38)+ (114> 76% 1)
T

SA.=2*% +

S.A.= +

SA.=

The surface arcaolthecanis
{2 decimal places).
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cm®. to the nearest hundredihy

Name:

Dawe:

(1 decimal place}.
T

5SS m

d= = h

Use 2 nel o the formula to find the answer,

Sentence:

Find the surface arca ol the cylinder to the ncarest tenth of a square centimeire
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Working Example 2: Calculate the Surface Area of a Right Triangular Prism

. . I Find the surlace area of the right trianguler prism,
#) Draw the net of thi right triangular prism. & suier pi

. How many ditforent-sized reclangles arc there? —
Sotution
Smai rectangie - lgereqangle
A=trw ‘ A=ixw
: Jam = =
i 99¢em —_—
R
= e = omt
e L
[<id
b) What is the surface arca?
, ~"" 3 sides wilh {he same length
Solution _ —5
‘The bases of the prism are equilateral triangies. The sides of the prism are rectangles.
reciasgle wigng'e
2m 2Etm y=2
gm . Im
Ad=1xw A= x Y2
=9x___ s ={3x206)+2 _ e
= m? = =2
- o Surface Area = (2 x arca of small rectangles) + (area of large rectangie) + (2 x arca of trisngle)
The righ lar prisa has 3 f 1 =3 )+ +(2x )
¢ right triengular prisa has 3 faces.
a £ P . /\ r\\ <
4 _-— -~
Az A= T A= +( }
A= =
The surface area of the right wiangular prism is e
Surface Arca={3 * area of reciangle) + (2 * area of tringle)
= (3»27) + (2x39
= +
“The surface area of the right triangulur prism is . .. m
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5.3 Surface Area of a Prism

surface area

« the numbier of square units needed 1o cover all the faces of
a 3-D object

« 1he sum of the arcas of all the faces of an object

« measured i square units _“ngu. m?)

|

Working Example 1: Calculate the Surface Area of a Right Rectangutar Prism

a) Draw the net of this right rectangular prism.

Selution

£em |.._

Tna

b} What is the surface area of the prism?

Solution

The right rectangular prism has 6 faces, There are 3 different sizes of faces.

frgnl or etk rop or btom ends
mna_ w icm _ : AED
0cn _ Bem
W0um
A=ixw A=l=2w CA=xw
=10x=6 =19 x . =6
= ot = cm? = em?
Arca of frout and back Area of top and bottom “ Aren of both sides
=60x%2 =40 x2 P24 %2
= _.em - e f= em’

Sueface Arca = {area of front and hack) ~ (area of top and buttom) + {area of ends)
= 120 - 30 * 43
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front or batk i 9 of bottom BRlis
i e
an _ (] o
—_— ” €]
A=ixw vA=Ixw A=lzw
= x foa » X
a P
Area of front and back: Area of top and bottatn: i Area of 2 ends:
’ |
A= *2 A= %2 ' R

Surface Area = {area of front and back) + {area of top and bottom) + (area of ends)

The surface area of the fght rectangular prism is
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